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5 « Reactions in Aqueous Solution ;

Fugr ARseens A-lble Oxidation Numbers & RedOx
‘.(54.\ . Determine the oxidation number of each element in the following ions or compounds:
7 @) Broy d) CaHj
b) C04" e) HaSiO,
¢) Fs f) SO

55. Determine the oxidation number of each element in the following ions or compounds:
a) SF¢6 S=4+( g=--| d) N2O4 NZ= 4y 0=-2
b) H2AsO4™ |- & Ag=fp 0=726) PCL* P+ = —|
) U0 y=,5 osp D X0 pecale ©=-2

( 56.. Which of the following reactions is (are) oxidation-reduction reactions? Explain your answer briefly.
- classify the remaining reactions.
a) Zn(s) + 2NOs(aq) +4 H'(aq) — Zn2+(aq) + 2NO;(g) + 2 H,O(D)
b) Zn(OH)(s) + HySO4(aq) — ZnSO4(aq) + 2 HO(1)
¢) Ca(s) +2 HO(1) - Ca(OH)a(s) + Ha(g)

57. Which of the following reactions is (are) oxidation-reduction reactions? Explain your answer briefly.
classify the remaining reactions.
a) CdCly(aq) + Na;S(ag) — CdS(s) + 2 NaCl(aq) NeT REDOL.. DoumiE BT PACEMEIT
E,r)lz Ca(s) + Oz(g) = 2Ca0(s) wpor (o -— Ca'+ie /4 eOu —20%
¢) Ca(OH)(s) + 2HCl(aq) — CaCly(aq) + 2H0(1) wme+t mine. . Dovpe REPL.

@ In each of the following reactions, decide which reactant is oxidized and which is reduced. Designate
e the oxidizing agent and reducing agent.
a) 2Mg(s) + O2g) —> 2 MgO(s)
b) CoHi(g) + 3 0a(g) » 2 COx(g) + 2 H0(g)
¢) Si(s) + 2 Clx(g) — SiCla(l)

59. In each of the following reactions, decide which reactant is oxidized and which is reduced. Designate
the oxidizing agent and reducing agent. -
a) Ca(s) + 2 HCl(aq) — CaCly(aq) + H(g)
b) Cr07 (aq) + 3Sn*(ag) + 14 H'(ag) > 2 Cr'*(aq) + 3 Sn*(aq) + 7 H;0()
¢) FeS(s)+3NOj(aq) + 4 H'(aq) - 3NO(g) + SO, (aq) +Fe**(aq) + 2 H,0()
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